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Topic:- CDP_P2_CTET

K Development is a process that begins .

(1) continous life-long; at the time of conception

(2) continous life-long; at birth

(3) process during childhood; at the time of conception
(4) process during childhood; at birth
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[Question ID = 1][Question Description = S18_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2 Assertion (A) : A child has to have some neuromotor maturation before she learns to
catch a ball.
Reason (R) : Learning is dependent upon development,

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 2][Question Description = S18_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



) Socialization is a process in which connections among various agencies of

socialization are i
(1) simple; important

(2) simple; not so important
(3) complex; important
(4)

4 complex; not so important
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[Question ID = 3][Question Description = S18_CDP_Q003]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

? Children in stage can solve concrete problems in a logical fashion but have

difficulty thinking hypothetically.
(1) Sensorimotor

(2) Pre-operational
(3) Concrete operational
(4) Formal operational
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[Question ID = 4][Question Description = S18_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

According to Jean Piaget, children learn meaningfully :

(1) through the process of conditioning of stimuli and response.
(2) when offerred rewards and punishment,

(3) when adults take control and provide explanations.

(4) through self-initiated activity and discovery.
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[Question ID = 5][Question Description = S18_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

®) Which of the following statements in not correct about Piaget's proposal about sequence
of stages ?
(1) All aspects of cognitive change in an integrated fashion, following a similar course.
(2) Stages can be skipped.
(3) Stages occur in a fixed order.
(4) Stages are universal; they are assumed to characterize children everywhere.
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1[Q1u<£3;tit?n |I|[)) =2611[Question Description = S18_CDP_Q006]
2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7 According to Kohlberg the pre-conventional level of moral development is characterised

by :
(1) focus on how cultural factors and gender influences moral development
(2) good or bad is determined by the consequences of obeying or disobeying rules

(3) the individual strives to maintain the expectations of others rather than focus on the
consequences of one’s actions

(4) Self-chosen ethical principles that are universal
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[Question ID = 7][Question Description = S18_CDP_Q007]
1. 1 [Option ID = 25]



2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

®) Lev Vygotsky suggested that children’s cognitive developmentis by interactions

with people who are more capable.
(1) not impacted

(2) negatively impacted

(3) facilitated

(4)

decreased
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[Question ID = 8][Question Description = S18_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

According to Lev Vygotsky, learning :
(1) is a measurable change in behaviour.

(2) cannot be separated from it’s social context.

(3) depends on positive and negative reinforcement.

(4) includes attentional processes and stores of memory.
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[Question ID = 9][Question Description = S18_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

" The abilities in Intrapersonal intelligence include :

(1) capacity to think in images and pictures, to visualise accurately and abstractly.
(2) awareness of one's feelings and knowing one’s capabilities.

(3) sensi tivity to rhythm, pitch, meter, tone, melody.
(4)

4)  ability to distinguish between specific pitches, tones and rhythms that other may
miss.
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2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

(1
(2
(3
(4

" An architect designing a city and an artist working on an intricate drawing would require

high :
(1) Spatial intelligence

(2) Linguistic intelligence
(3)  Musical intelligence
(4) Intrapersonal intelligence
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[Question ID = 11][Question Description = S18_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) : 3
In a progressive classroom, the curriculum :

(1) is rigid and highly structured without giving any autonomy to the child.
(2) is organized into fragmented subjects with no correlation amongst them.
(3) is organized according to the capabilities and interests of the children.
(4) is presented in disconnected chunks of information.
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[Question ID = 12][Question Description = S18_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]



13 - ; e o :
) A teacher tells the boys in a co-education class - “Do not take up home science in

co-curricular activities, you are not a girl”. This would encourage :
(1) gender equity

) gender stereotyping

) gender role flexibility

) gender equality
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[Question ID = 13][Question Description = S18_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

"™ Assessment of conceptual clarity of a student can be effectively done by :

(1) Asking the student to recite the definition

(2) Asking the student to think of application of the concept to daily life
(3) Asking the student to copy from the board
(4)

4)  Asking the student to memorize another student’s response
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[Question ID = 14][Question Description = S18_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

) To encourage critical thinking a teacher should :
(1) Accept multiple perspectives

(2) Discourage discussions

(3) Be intolerant to dissent
(4)

4)  Emphasise convergent thinking
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[Question ID = 15][Question Description = S18_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

'® Inclusion as a philosophy and practice is situated in the context of diversity which includes :

(1)  Linguistic diversity

(i) Gender diversity

(iii) Socio-cultural diversity
(iv) “Ability’ and ‘disability’

(0 (@), (i)

(2) @) @)

(3) (1), (i), (iv)
(4) (@) (i), (i), (iv)
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1[Q1u?;[t)1t(l)or:1 I||; =611 ?][Question Description = $18_CDP_Q016]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

" Which of the following is NOT an effective pedagogical strategy to cater to students from

disadvantaged backgrounds ?
(1) Link learning activities with the social and cultural environment of the students

(2) Dismiss expression in local language
(3) Make it compulsory for them to take tutions at home
(4) Focus on reproduction of school knowledge as it through repeated practice
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2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

'®) Students struggling with often face difficulties in mathematical concepts and
computation.
(1) Dyscalculia
(2) Dyslexia
(3) Dysgraphia
(4) Autism
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[Question ID = 18][Question Description = S18_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19 S S
) An assistive technology to aid vision is :

(1) Large print worksheets
(2) Voice activated computer
(3) Calculators

(4) Magnifying glass
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[Question ID = 19][Question Description = S18_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20) Typical identifying characteristics of creative children include :

(1) Flexibility, fluency and originality of ideas

(2) High intellectual, social and emotional maturity
(3) Preference for simple tasks and low risk taking
(4) Convergent and rigid thinking
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[Question ID = 20][Question Description = S18_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

20 Multiple ways of are of importance for successful implementation of Universal

Design for Learning ?
(1) Representation
(2) Action

(3) Engagement

(4) Labelling
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2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

) What skills do contemporary policies of education such as National Education Policy 2020

propose should be developed in children ?
(1) Critical thinking

(2)

(3) Learning for exams
(4)

Recall and reproduction

Rote memorisation
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[Question ID = 22][Question Description = S18_CDP_Q022]
1. 1 [Option ID = 85]

2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

2 Meaningful learning of students is NOT promoted by encouraging children for :

(1) Exploration and experimentation

(2) Metacognition
(3) Discussion and debate
(4) Passive listening
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[Question ID = 23][Question Description = S18_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

™ The broad prespective of schools and especially teachers to understand failure of students

should be that it :

(1) reflects poorly on the students” academic capabilities.

) reflects poorly on the teacher’s abilities.

) is a systemic issue and there is a need to reflect on the school systems.
)

——
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is an issue of communities since children belonging to poor economic class cannot
be educated in the same set-up as other children.

el @i favm w9 9 forgent =1 o= 1 favwera 1 g T grem =fey 2

(1) =&l =t wusir Aerfores amarel 1 ufafse

(2) Tozes =t FASIR AHaE] @ glafdad

(3) T =EwrT ggel o § wre w1 e yonferdi w wfafsam & w1 smevaswa @

(4) SR w1 YaT e TS ST 57 2wl i 31 I i 8 U &l Thel o § fafaa
&l e T Hehell B



[Question ID = 24][Question Description = S18_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

(1

Children form naive theories or alternative conceptions because :

) their thinking is much inferior to adults.

(2) they are blank slates.
(3) they are thinking beings who are constructing knowledge by interacting with the

world.

(4) their thinking is illogical and irrational.
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[Question ID = 25][Question Description = S18_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)

When a student is stuck on one way of representing a problem it is called :

(1) working backward strategy

(2
(3
(4

functional fixedness

)
) response set
)

analogical thinking
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ID = 26][Question Description = S18_CDP_Q026]

1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]



) Assertion (A) : While teaching problem - solving, teachers should discourage the children

to think about their own thinking and focusing on how to learn.
Reason (R) : Development of metacognitive abilities hinder problem - solving.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A)is true but (R) is false
(4) Both (A) and (R) are false
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1[Q111([e;ti9n |||; =1%):]][Question Description = S18_CDP_Q027]

2. 2 [Option ID = 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

8 Assertion (A) : Teachers should tell middle school students exactly in details what they

have to do including what, how and when to learn.

Reason (R) :  Middle school children do not have the capacity to self-regulate their
learning.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A)is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 28][Question Description = S18_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]



3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Thinking of ability as and failure as motvates the students to

work harder by putting in more efforts.
(1) Fixed; humiliating

(2) Fixed; an opportunity to learn

(3) Incremental; humiliating
(4)

4 Incremental; opportunity to learn
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[Question ID = 29][Question Description = S18_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

) Which of the following factors influences learning ?

(i)  Socio-cultural context of the student

(ii) Age of the student

(iii) Pedagogical strategies to teach a concept
(iv) Teacher’s beliefs about the student’s ability
(1) (@) (i)

(2) (i), (i)

(3) (@) (i), (i)

(4) @), (@), (), ()
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[Question ID = 30][Question Description = S18_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

[ S



Topic:- SS_P2_CTET

" Which Buddhist text explains rules made for the Buddhist Sangha ?
(1) Sutta Pitaka

(2) Vinay Pitaka
(3) Abhidhamma Pitaka
(4) Buddacharita
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[Question ID = 91][Question Description = S18_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2 City of Kannauj was a point of contention among which of the following dynasties ?

(1) Pratihara - Rastrakuta and Pala
(2) Rastrakuta - Pala - Pallavas

(3) Pallavas - Pala - Pratihara

(4) Rastrakuta - Pratihara - Pallavas

et TR Frerfofed o9 8 & 99 9 59 % o= * foar & s fag a2
(1) 9fder - TLHe - Ui
(2) UEHS - Ui - Yooid
(3) Yooid - YT - iR
(4) TEFHE - YR - Jeord
[Question ID = 92][Question Description = S18_Social Science_Q032]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]

3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

" In the Rosetta town of Egypt an inscribed stone has been found. Which of the following

languages is inscribed on it ?
(1) Roman

(2) Greek
(3) Aramic
(4) Latin
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[Question ID = 93][Question Description = S18_Social Science_Q033]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 Match the following in the context of construction of Shiva temple by Chola King

Rajendra [ in the early eleventh century and choose the correct option.

A B
(A) Sun Pedestal ()  Palas
(B) Nandi Statue (I) Kalingas
(€) Image of Bhairava (IIT) Eastern Chalukyas
(D) Kali Statue (IV) Chalukyas
(1) (A) - (), (B) (IV), (©) - @), (D) - (O
(2 (A)- @, (B) - (), (C) - (1), (D) - (IV)
(3) (A)- (1D, (B ) (I, (©) - (IV), (D) - ()
(4) (&) - (@V), (B) - (), (€) - @), (D) - (D)
el T T2 -] GRT e wraredt H s T e wiedt 3w # Frfafew @ fream #ife, i
el fased =1 A sifsg |
A B
(A) §H difesm () welid
(B) et Hfd () hifeii &
(O % =i ush i (1) geft =Rt &
(D) et i (Iv) =i |
(1) (A) - (), (B) - (IV), (©) - (1), (D) - ()
(2)  (A)- O (B) - @) © - ), D) - (IV)
(3)  (A) - (1D, (B) - (D), (C) - (IV), (D) - (@)
(4)  (A)-(IV), (B) - (D), (C) - (1), (D) - @)

[Question ID = 94][Question Description = S18_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]



%) Which of these statements are true about Sikhs during 17th and 18th Centuries ?

(A) The Sikhs organised themselves into a number of bands called Jathas and later on
misls
(B) Their combined forces were known as the grand army (Dal Khalsa)

(C) Introduction of Rakhi system, which offered protection to Muslims on the payment
of a tax of 20% of the produce

(D) Guru Gobind Singh inspired the Khalsa with the belief that their destiny was to rule
(Raj Karega Khalsa)

Options :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (A), (B) and (D) only
(4) (A), (C) and (D) only

Frfafaa § 9 @9 9ud FoH 1791 9a1 18 of vamal & S foeel & I H 99 76 § -

(A) Towai 7 1+ eryent veel ‘sl ® ofw O o ‘fawei’ | gafed fean

(B) k! €YK HAT ‘ol Wrew’ shwardl o |

(C) THl =yae] & d8d 3= YHATM § Sl 3US il 20% FL F &Y H ol 3% HE0 GEH

BRI

(D) 7% Tiifeg fie = wrer =l 38 favaw & w1y 9 foran for 39 9 o oA & o1 (TS
T @) |

Taenea :

(1) & (A) 3 (B)

(2) aA (A), (B) aih

(3) %dd (A), (B),

(4) HEE (A), (), s?r{(D

[Question ID = 95][Question Description = S18_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

© Who founded the Virashaiva Movement ?

(1) Jnaneshwar

(2) Shankara
(3) Basavanna
(4) Ramanuja



o stider s T fores 1 ?
(1) FHIR

(2) W
(3) SHe=
(4) THIS

[Question ID = 96][Question Description = S18_Social Science_Q036]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7 Which one of the following tribal communities live in the forest areas of Odisha ?

(1) Khonds

(2) Munda
(3) Gouds
(4) Khasi

Frefafad § 9 & o anfeawd Sae S8 S Sl | Wl o912

(1) wEig
(2) Ha
(3) Tie
(4) wrE

[Question ID = 97][Question Description = S18_Social Science_Q037]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8 ; ; 7 E
) Look at these terms mentoned in the Chola inscriptions and choose the correct answer.

(A) Vellanvagai

(B) Devadana

(©) Pallichchhandam

(D) Shalabhoga

Options :

(1)  All four are categories of land

(2) All four are units of measurement
(3)  All four are varieties of taxes
(4) All four are parts of a temple



=i Aol 1 3feafad 37 vt i SfEe SR 98t 3 ST
(A) SEETRTE

(B) <ERH

(C) dfeer=gn

(D) SN

Taereq :

(1) @efi = i =1 i €
(2) =R =Y A E
(3)  |ef = W & FLE |
(4) =R A F TeeEgl o F |

[Question ID = 98][Question Description = S18_Social Science_Q038]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

®) Which one of the following about Raja Ram Mohan Roy is not correct ?

(1) He founded a reform association known as Brahmo-Sabha
2)

3) He began a campaign against the practice of Sati

4) He wanted greater freedom and equality for women

He was against spreading the knowledge of Western education in India

(
(
(

T e W7 % AR H Frefafed § § FF 91w e a8 w2
(1) 3= &l g9’ 919 & Tk YURATS] S S+ o1 |

(2) &% v H ufvEHr fren % gHr % fowg 91

(3) IRIA Tl 9o % faers qen 3 ot

(4) a7 Afgensii & fou oiv sifemr e @ TuEa & geEr 91

[Question ID = 99][Question Description = S18_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

9" Read statements (A) and (R) and regarding Indian Society in the 19th century and choose

the correct option.

Assertion (A) : Orthodox Hindu society reacted by the anti-caste system movements and
formed organisations like Sanatan Dharma Sabha and Brahman Sabha.

Reason (R) : The objective of these associations was to uphold caste distinctions as a
cornerstone of Hinduism and show how this was sanctified by scriptures.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3)  (A) is true but (R) is false

(
(
(4) Both (A) and (R) are false



1981 Hal & YRAT GAS & a9 H FA1 (A) 9971 (R) 1 9 997 T&l gy o1 =997 Hi |
AR (A) ;. Sfd = & foliy § 38 sr<ierl o yfafsran § wfear! fog was 4 o
" e wme T ST e S Eed e fR
T (R) : S HSH 1 R e o o femg el o it - =R il e feen S @
3H RHR A4 7 ST q F Fifad FT T2 S 39 9 w1 enfeies el § o
AT et g8 €1

Taerey

(1) (A) 3R (R) TF1 5= 2 iR (A) =it (R) TEI =0 31 2

(2)  (A) 3T (R) IFT wE T ARRA (A) FT (R) TET AN 7ol Al & |

(3) (A) W&l § AfeF (R) Temd B

(4) (A) 3R (R) AT TTemd )

[Question ID = 100][Question Description = S18_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

11 : 2 :
) Which statements are true among the social reformers Haridas Thakur and
E.V.Ramaswamy Naicker ?

(A) Both worked for the caste groups which faced discrimination in the society
(B) Both were against Bahmanical texts that supported the caste system
Options.

(1) Both (A) and (B) are true

(2) Both (A) and (B) are false

(3) (A) is true but (B) is false

(4) (A) is false but (B) is true

TS G s gt iR €., It At & fawa § S ard e 9§72
(A) THI A HES H HEHE 1 AT L T8 ST Tl o fod s feR
(B) <M gl & 39 Ueil % fawg & i wifq gen & wnds 9|

faeeya -

(1) (A) ¥ (B) S @ F

(2) (A) iR (B) T s/ €1
(3) (A) T ¥ fohg (B) 319 €1
(4) (A) A © fog (B) TA B

[Question ID = 101][Question Description = S18_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]



' Read statements (A) and (R) considering the formation of Indian National Congress and

choose the correct option.

Assertion (A) The Indian National Congress was established in 1885 when
delegates from all over the country met at Bombay.

Reason (R) : A.QO.Hume, a retired British official played a crucial role in bringing
Indians from the various regions together to form the INC.

Choose the correct option.

(1) Both (A) and (R) are true but (R) does not explain (A)
(2) Both (A) and (R) are true and (R) explains (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

TS TETF BT 6l 91 & Hedl o fehed (A) qe1 ST (R) o 9e ST W&l I <l T

Co g

SR IT (A) : 1885 1 39 WX & WAl = saE § 9 shleh YRy T e i Tl
i |

T (R) : Harfrga fafew swee, w ol gn A fafy= &= & IRl 1 91y A Ry
o H 3reH yffent 31 =i |

(1) & (A) T (R) & € g (R), (A) =1 =2 =& = &

(2) B (A) T (R) WE € T (R), (A) St SRS FA §

(3) (A) @& T g (R) Tom &

(4) (A) 7 & fohg (R) Wl ©

[Question ID = 102][Question Description = S18_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

' Who among the following coined the slogan “Gandhi Maharaj Ki Jai” ?

(1)  Mill workers

(2) Tea garden labourers
(3) Indigo Planters
(4)

4 Peasants

Freafafes # 9 foem Tt 7St 1 5@ &6t A e o ?
(1) Tre #sgli A

(2) =™ T HSg A

(3) it i Bt A T Al A

(4)

[Question ID = 103][Question Description = S18_Social Science_Q043]
1. 1 [Option ID = 409]

2. 2 [Option ID = 410]

3. 3 [Option ID = 411]
4. 4 [Option ID = 412]



4 Who among the following was the first Indian Governor General of free India ?

(1) Jawahar Lal Nehru

(2) C.Rajagopalachari
(3) Sardar Vallabhbhai Patel
(4) Dr. Rajendra Prasad

Frfafag & § i T&ds R & Jee WRAT 7o e o ?
(1) SR T8&

(2) . TS

(3) HER FEAYYE YA

(4) €L USE YER-

[Question ID = 104][Question Description = S18_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

™) Statement (A), (B) and (C) describe the features of a planet. Identify the planet.

(A) It is the third nearest planet to the sun
(B) It is the fifth largest planet
(C) Itis slightly flattened at the poles

Options :

(1) Mars

(2) Mercury
(3) Venus
(4) Earth

F9 (A), (B) 3R (C) T g =t fagruarsii =1 90 ad ¥ 1 39 78 & 989 & |
(A) I F @I dgu ]
(B) TR H I Ur=al Ug T

Taere :
(1)
(2 94
(3) Wb
(4) g

[Question ID = 105][Question Description = S18_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]



16)

The opening time of Central Government offices in India is 9:00 a.m, IST, what will be the

local time of opening of the Central Government offices located at 72°45" East Longitude
near Gandhinagar and 85 East Longitude near Patna, respectively ?

(1) 09:39 am. and 08:50 a.m. respectively
(2) 08:50 a.m. and 09:39 a.m. respectively
(3) 08:21 a.m. and 09:10 a.m. respectively
(4)

4) 0910 am. and 08:21 a.m. respectively

IRG H % TR F HEEE % Ge w TG 9:00 [EEd (MRS IFE 9eE) ¥ | AR %
AT 72045’ 9, AL TX 3R G2A1 o THIY 85° Y, TR R FEed g TR 3 FHEieEl & gad il

T T A1 8 2

(1)  09:39 Yated AR 08:50 YaTeA

(2)  08:50 Yated AR 09:39 Yated

(3) 08:21 gated IR 09:10 Yot Ham:

(4)  09:10 gaigT AR 08:21 Yot Ha:

[Question ID = 106][Question Description = S18_Social Science_Q046]
1. 1 [Option ID = 421]

2. 2 [Option ID = 422]

3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

" Consider the given statements and choose the correct option.

(A) World's largest hot desert is located in Asia

(B) Equator passes through Asia

(C) Asia is the third largest continent
(D) Asia lies in the Eastern Hemisphere
Options :

(1)  Only statement (A) is correct

(2) Only (A) and (B) are correct

(3) Only statement (D) is correct

(4) Only (C) is correct

= fou o wuA W e wifee 9o e fasey o =99 Fifag |

(A) fova = wad = T e uften § fem §
(B) oo g e & et Towear &

(C)  ufern FERT 9o 991 HeEy §

(D) frn i e & e @

Tererea :

(1) hod F2H (A) T& &
(2) Ed (A) $IX (B) TE &
(3) e HUH (D) T &
(4) e (C) T &

[Question ID = 107][Question Description = S18_Social Science_Q047]
1. 1 [Option ID = 425]



2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

"®) Choose the correct option considering the following statements given below.
(A) The thin blanket of air is an integral part of the planet Earth
(B) It provides us with the air we breathe.
(C) It protects us from the harmful effects of the sun rays.
Options :
(1) Only (A) and (B) are correct
2)  Only (B) is correct
Only (C) is correct
4) (A), (B) and (C) are correct

Frefafaa A 1 faar @ % a. uel fawes & = i)
(A) P ! Tl WA eaT H e G Y

(B) % &H UMl 9T WS YAl & fored g9 @ | o ©

(C) % &H @il #1 G2 1 9 TR o & S §

fawea -

(1) ae (A) 3T (B) &l &
(2) e (B) 98 &

(3) e (C) W &

(4) (A), (B) 3T (C) 5&I &

[Question ID = 108][Question Description = S18_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

') When block mountains are created then :
(1) large areas are broken
(2) large areas are displaced
(3) large areas are broken and displaced at the same time
(4) only a small portion of land is broken or displaced
T G gedl a1 fmior a9

(1) Sd el 9 22 WAl &
(2) =gd =g 9T fereenfua 2 S @
(3) =Ed el 9N U & T H Z2an eI fazenfyq € §
(4) 9 =1 Faa S W e & gea = faeenfua & @
[Question ID = 109][Question Description = S18_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



20 ¢ you want to see gompas, meadows and glaciers which one of the following State/

Union Territories you may have to visit ?
(1) Himachal Pradesh

(2) Jammu and Kashmir
(3) Ladakh
(4) Assam

Hfg &9 Tifan, = & HeF, 9 foreg S =rd § o onven fAefafaa § 9 feg v wfoq
W Y AT FLA Bt 2

(1) feam=e g<w
(2) ST SR HIHR
(3) ws™E

(4) 8H

[Question ID = 110][Question Description = S18_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

20 Which of the following country is not located in Sahara desert ?

e B =i T 2 wer Y H feo T ¥

(1) ST

(2) el

(3) R

(4) SifeEm
[Question ID = 111][Question Description = S18_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]

3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

2 Read the statements (A) and (B) and choose the correct option.
Statement (A) Nitrogen is the most plentiful gas in the air
Statement (B) The increased volume of Nitrogen is affecting the Earth’s weather
and climate

Choose the correct option.
(1) Both (A) and (B) are true
(2) Both (A) and (B) are false
(3)  (A) is true but (B) is false
(4) (A) is false, (B) is true



HYIA (A) 3R (B) 1 TgH Gal foshey 1 g1 ifag |

HYT (A) : EEISH a1 Hedl § Tt qrdt §i 9t i1 2

HF (B) : THH 991 5N AREA Y W Oy 991 Sierary, 1 gafad i
faeeq :

(1) (A) 3R (B) 21 Tt €1

(2) (A) R (B) & Tera €
(3) (A) T& T A (B) o T
(4) (A) TTod T fRT (B) W

[Question ID = 112][Question Description = S18_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

) Loois an example of which type of winds ?

(1) Permanent winds
(2) Seasonal winds

(3) Local winds
(4)

4 Polar winds

9 1 B ¥ g WehR R va i S E 2

OEIRIRCE
(2) Hrgd ged
(3) T qEH

(4) o T

[Question ID = 113][Question Description = S18_Social Science_Q053]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

) Read the statements (A) and (R). Choose the correct option given below.

Assertion (A) : Very less number of people live in the mountainous areas
Reason (R) : The mountain areas with steep slopes have inhospitable terrain
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false



Fr=fafad o (A) 991 (R) 3 STER 9 921 fashey &1 <99 sifaa |
HYT (A) : Todd &5 H =gd & FH @R e i 2

THIOT (R) : o @1t a1t g &7 69 & fau faga §
faeeq :

(1) (A) 3 (R) T ¥ € W& (R), (A) 1 | =EAT R |

(2) (A) 3R (R) I T E TH (R), (A) FI FE A T S

(3) (A) ¥E € 9 (R) TIerd €

(4) < (A) T (R) Ted € |

[Question ID = 114][Question Description = S18_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

23) Which of the following minerals is called Black Gold ?

(1) Petroleum

(2) Coal
(3) Natural Gas
(4) Manganese

e § G FF 9 @i s el | weed B ?
(1) Hiferm

(2) I
(3) Rl T
(4) HS

[Question ID = 115][Question Description = S18_Social Science_Q055]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

26 3 P i : ;
) Which of the following industries is called backbone of modern industries ?

(I) Iron and steel industry

(2) Cotton textile industry
(3) Chemical industry
(4) Automobile industry

e H | fore 32 @1 3Ny SN 1 HEcs FHel Sl 2 |

(1) 397 & €id 38
(2) el o SER

(3)  TEEA SEM

(4) SrEHEE I

[Question ID = 116][Question Description = S18_Social Science_Q056]
1. 1 [Option ID = 461]



2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

") Which of the following type of farming is also known as Milpa, Roca and Ladang ?

(1)  Shifting cultivation

(2) Mixed farming
(3) Plantation farming
(4) Commercial farming

iyear, T, SR oM A H G fFg PR H F F eI g2

(1) wA Hiu
(2) fafsm =i

(3) U Hfy

(4) =nforicTeh

[Question ID = 117][Question Description = S18_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

28) Civil Rights Act of 1964 in the United States of America Prohibits discrimination on the

basis of 3

(A) race

(B) religion

(C) gender

(D) national origin
Choose the correct option.
(1) (A), (B) and (Q)
() (A), (B) and (D)
(3) (B), (O) and (D)
(4) (A), (©) and (D)

Ty WA SRR § 1964 % s stfuser sifufrem 3 F HHUR W S Al
Froe = feam)

(A) T

(B) #d

(©) e

(D) T e

Tet fasrey =1 =97 hifad :
(1) (A), (B) &R (Q)
(2) (A), (B) ¥R (D)
(3)  (B), (O) ¥R (D)
(4)  (A), (O ¥R D)



[Question ID = 118][Question Description = S18_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

29) Which among the following factors make rural livelihood vulnerable ?

(A) Dependence on monsoon for irrigation
(B) Selling products to village cooperatives
(C) Crop failure due to pest attack

(D) Loans taken from money lenders
Options :

(1) (A), (B) and (Q)

(2 (B), (C) and (D)
(3)  (A), (©) and (D)
(4) (A) and (D)

Frefafed § 9 i @ Fron g ffasmrs = srgefer s 2

(A) fe=r & fom w9 i

(B) ScdIEA hl UTHIY HWEshINEA] H S
(C) e g9t H el 1 T 8 S
(D) W & s 38T

faerea:

(1) (A), (B) 3 ()

(2)  (B), (O 3R (D)

(3) (A), (O 3R (D)

(4) (A) (D)

[Question ID = 119][Question Description = S18_Social Science_Q059]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30) Which of the following is NOT the source of fund for panchayats ?

(1) Taxes on houses, market places etc

(2) Donation for community work

(3) Government scheme funds received through various departments
(4) Rent on private property of Panchayat Secretary

Frefafas § § M o1 9= Fi S 1 S e €2
(1) =3 U&=l 9 S S a1l

(2) HYEM % HH ok fau faed S |

(3) fafvr= werrdl fasmil gr =t 7 ArsHe i afv
(4) HErgd wiEd i s gofa W=

[Question ID = 120][Question Description = S18_Social Science_Q060]



1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

31 e ik : ; w : .
) Territorial constituencies created for the purpose of Municipal election are known as

(1) Councils
(2) Wards
(3) Section
(4) Areas
TR Fe o A6 % Sevd | Tifad ferw e & fratem i o &Y H SIS
(1) R
(2 =
() we

(4) &=

[Question ID = 121][Question Description = S18_Social Science_Q061]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

*? Which of the following sectors provides employment to most number of people in India ?

(I) Primary
(2) Secondary
(3) Tertiary

(4) Gig economy

e 8 o W & IRd T Ted S USR Wer Sl § 2
(1) W=\
(2) fedim
(3) qdrTH
(4) Ty geiAtet
[Question ID = 122][Question Description = S18_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]

3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

**) Seasonal unemployment is commonly associated with which of the following activities ?
(1) Farming
(2) Milk cooperatives
(3) Call centre
(4) Ceramic pottery



At ST Frerfafea § | frg ik & @ Sidt s g 22

(1)

(2) Y HeHIa

(3) i B

(4) =i 92 & g6 I

[Question ID = 123][Question Description = S18_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

* The basic indicator of a democratic government is having/applying

(1) proportional system of representation
(2) universal Adult Franchise

(3) first past the post system

(4) territorial representation

T Alehditaeh SRR Sl SURYd g9 8 1 BHI/AT] LT |
(1) wfafHfyac =6t stgafas =qaee
(2) wETHE TIER AARER
(3) T U2 T U faen
(4) &g wfaffe
[Question ID = 124][Question Description = S18_Social Science_Q064]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]

3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

33) In what way, the amendment in Hindus Succession Act in the year 2005 benefits women ?
(1) It provides women with equal share in the Parent’s property
(2) It provides more property share to daughters in comparison with sons
(3) It transfers the entire property in daughter’s name
(4) It provides distribution preference to daughters over the sons in family property
feg waufusr sifufrag § o4 2005 9 g1 agerd qfsansii i foy 7 avif-ad wim ?
(1) =% afeensi %1 ora-fuar #1 gufq & swer fewmn feam 7
(2) ¥ G = e gl o dufh 3§ siferes fewm femm @)
(3) % Rl Hufa gfsEl & 9 gxiafia & §
(4) = it Hufa seai ¥ giel =t g % s w2 1
[Question ID = 125][Question Description = S18_Social Science_Q065]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]

3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



**) The main ways of implementing the principles of equality guaranteed in the Constitution

of India are .

(A) Through Laws

(B) Through government programmes to help disadvantaged communities
(C) Through mobilizing natural resources

Choose the correct option :

(1)  (A) and (B) only

(2) (B) and (C) only

(3) (A) and (C) only

(4) Only (A)

YR HfayH 8 91 frt U e & SR 1 @] F % = YER ©
(A) I F BRI

(B) TR ! AIetl & SHdshHl g7 lAUEH HYaEi i Heg X1 6 gl
(C) WEhfdes HHIEHl 1 IAEEE FH & gRI

@WWWW
(1) = (A) 3T (B)
(2) € (B) ¥R (C)
(3) e (A) ¥R (C)
(4) A (A)

[Question ID = 126][Question Description = S18_Social Science_Q066]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37) Identify the correct sequence of the words as given in the Preamble of Indian Constitution :

(1) Sovereign, Secular, Socialist, Democratic Republic

(2) Sovereign, Socialist, Secular, Republic Democratic
(3) Socialist, Secular, Sovereign, Democrati Republic
(4) Sovereign, Socialist, Secular, Democratic Republic

Hfau™ =1 TEA § YW Y561 o HEl ST Hl TEEH it |
(1) E9Y, yHfFe, Forsere], eehdie, T
(2) H9Y, GHNSEE], YHARIE, TGS, ki
(3) HHISEmE], YHAOE, HYY, Slhdi, TG
(4) H9Y, FESETE, gHRuE, i, TR
[Question ID = 127][Question Description = S18_Social Science_Q067]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]

3. 3 [Option ID = 507]
4. 4 [Option ID = 508]



*®) Consider the following statements about Public Interest Litigation (PIL) :

(A) Individual or organizations can file a PIL in the High Court or Supreme Court
(B) PIL can be filed on behalf of those whose rights are violated

(C) PILcannot be filed through letter or email addressed to the High Court or the Supreme
Court

Which of the following option is correct ?
(1) (A) and (B) are true

(2) (A) and (C) are false

(3) (B) and (C) are true

(4) (A), (B) and (C) are false

e e (s ue.) ¥ Gy § Freafafad weE W faEr H
(A) g oft Sl o1 HISA S= ST A Hee e | Sted A (9., e, ) S

Gehell/Fehd §

(B) wfed afeeht (WL.3ME.UA. ) 37 @R ol ST H T I o Fehal! & Toiich SATRI &1 Seetsr
eI

(C) SHfed af=eh (J1.315.00.) 3= <IEad A1 ar= e o AW 491 T 95 91 35 &
LA H AL TRl i S Hehdl |

Frefafed # @ @ wr fosmey odt 82

(1) (A) 3R (B) T&t &

(2) (A) R (C) T €

(3) (B) &R (©C) @@ ¥

(4)  (A), (B), 3R (C) Temd &
1FQ:JQ[9(§;it?or:1 III[)) ==51O§]8][Question Description = S18_Social Science_Q068]
2. 2 [Option ID = 510]

3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

) When the tribal groups are displaced from their lands due to developmental activities, as

a consequence they tend to lose their
(A) Customs and traditions

(B) Sources of income and livelihoods
(C) Access to forests

(D) Status as a deprived communities
Choose the correct option.

(1) (A), (B) and (O)

() (B), (C) and (D)
(3) (A), (©) and (D)
(4)  (A), (B) and (D)



S aAfearsl ToEl o T nfafafe @ R0 et 4 3§ fawftia form s € @ woesy
o e WH @ 3 |

(A)  Hfa-famst iR wigd
B) & % G 3iR ssiiferernd

faerey :

(1) (A), (B) ¥ ©)
(2) (B). (O) ¥R (D)
(3) (A), (O R (D)
(4) (A), (B) ¥R (D)

[Question ID = 129][Question Description = S18_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

‘9 Which among the following would be the example of cultural justice ensured by the
constitution of India ?

(A) Recognition of freedom of religion and culture of all communities

(B) Spreading the culture of the mainstream in the marginalized communities
(C) Allowing minorities to preserve their religion and culture

(D) Recognition of cultural rights as part of Fundamental Right

Options :

(1) (B) and (D)

(2) (A), (B)and ()
(3)  (A) (C) and (D)
(4) (A) and (D)

Frefafaa & 9 e sy wfaum grn gifved |iesfas = & 3 & 2

(A) | TSR &t i i wikesfas Eds & ueam

(B) HEAYRI HI HEhfd whi wfvrIed 9gerdi § e

(C) sreTdEm i o o oiR Fertt %) gefe T w oA 3
(D) WiEerfasr sifaeil i Hifas fusr & €9 § ygam

faerey -

(1) (B) 3R (D)

(2) (A), (B) 3 (Q)

(3) (A), (O) ¥R (D)

(4) (A) ¥R (D)

[Question ID = 130][Question Description = S18_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]



4. 4 [Option ID = 520]

4 Which of the following statements are true regarding the nature of History as a discipline

of knowledge ?

(A) History relies solely on the past without examination of how the past has influenced
the present

(B) History is the story of the growth of human consciousness, both in its individual and
collective aspects

(C) History is a dialogue between the events of the past and progressive changes in
future

(D) Continuity and coherence are the necessary requisites of history
Choose the appropriate option.

(1) (A), (B) and (O)

(2)  (B), (C) and (D)

(3) (A) (C) and (D)
4 (@A)

_ and
4) (A), (B) and (D)

fFreafafEd 9 FA A FR I F T F v sfaem & @80 & I8 § 9e 72
(A) e ol w9 9 erdid W fAel 2, fomn 7% S for 9 ewdia 3 admm &1 gaifad foen 2
(B) zfaerg 1+ =afmTa wd grafess Al & vell H ArEE =9 & fasm it Fer '

(C) =fer erdia & weAmRal den wfass § wfasiict aRedHi % o= &1 gae §
(D) faan sk awise Sl sfaem 2 srifam 7o €

Sy fasheq =1 =2 i ;
(1) (A), (B) ¥R (©)
(2) (B), (O) ¥R (D)
(3) (A), (O ¥R (D)
(4)  (A), (B) ¥R (D)
1FQ:1?;:)1?0: ||[; =512 .::]1][Question Description = $18_Social Science_Q071]

2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

42 ; ; : :
) Which of the fol]owmg statements is correct to current practices to denote dates and years

in history ?

(1) BCE in place of AD
(2) AD in place of BC
(3) AD in place of BCE
(4) BCE in place of BC

2

L€



e # faferdi e o =1 wfed %0 & faw g9 & o gl adgm el & 9R § fefate
Forl | W I G H T ?
(1)  AD (TwEl) % ¥M W BCE (&.#.3.)
) BC (SHLL) % ®&IH W AD (TEL)
(3) BCE (s@LE) % T | AD (T,E1.)
) BC (Sit.dh.) % T W BCE (S.9E.)

[Question ID = 132][Question Description = S18_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

*) Which of the following methods/tools are appropriate for making students understand

the concept of gender in classroom ?

(A) Life experience

(B) Case studies

(C) Organizing public meeting

(D) Stories

Choose the correct combination from the following :
(1) (A), (B) and ()

A), (C) and (D)

Frefafes § 9 %9 @ fafusians wa d fenfR @ Siet () *1 SheqT .l 993 6
foTu S & 7

(A) i % STgvE

(B) wATHK oM (FH Sl)

(C) SIS o HHESH

(D) eIl

(1) (A), B)a?h
2 (@A) sﬁ?(D
(3) (B) ( C) ¥R (D)
(4) (A), (B) 3ir (D)

[Question ID = 133][Question Description = S18_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]



*) For which of the following topics a teacher in Chhattisgarh school can plan a trip to

Raipur ?

(A) Tribal culture

(B) Medieval architecture
(C) Mughal architecture

Options :

(1) Only (A)

(2) Only (A) and (C)
(3) Oﬂl}’ (B)

(4 (A) (B)and (O)

Frefafag 5 | feg fawg & foau sdee & gl oo | e T 6 990 &6 JeE 94
Hehal § 7

(A) SR HEpd
(B) HEEFH arferey
(C) et argfaed

fawea :

(1) a (A)

(2) o (A) $R (C)
(3) o (B)

(4) (A), (B) ¥R (©)

[Question ID = 134][Question Description = S18_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

45 : 7 : ; ; ;
» A social science teacher wishes to teach the location of historical sea routes and ports, the

type of map she should use is
(1)  World Political

(2) World Physical
(3) India Political
(4) India Physical

YRR o HEES & FERT HT =M
(1) fawa =1 gsrHifaR
(2) fowa @ sifae
(3) IR 1 TR
(4) WRd I Wi

[Question ID = 135][Question Description = S18_Social Science_Q075]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]



4. 4 [Option ID = 540]

" While preparing a lesson plan on the topic of ‘Regional dynasties’, what will be the first
step of a Social Science teacher ?

(1) Selection of teaching-learning material

(2) Frame learning objectives
(3) Prepare introductory questions
(4) Go through the primary sources about the dynasties

‘gt 991’ o favg W ure dieT SA 99d, Uk araifern fase o ferss 1 ugen sew g ?

(1)  FeATgH-TenTd | &1 =994
(2)  SAeETH IR W1 TS HEAT

(3) UREmEe g9 &=

(4) @9 | Hafd wefier Sl ® ae

[Question ID = 136][Question Description = S18_Social Science_Q076]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

4N What may be the most meaningful pedagogical method to teach about the Adivasi

communities ?

(1) Showing visuals on different Adivasi communities

(2) Organising a cultural event with Adivasi songs and dances
(3) Inviting someone from the Adivasi community to speak about her/his lived realities
(4) Textbook reading about the contents included about the Adivasis

srfearelt wHerE & o H Yen o forg Tl sveiqel Rramereta faft o & wed €2

(1) fafy= enfeam Tl W gva-armt =i foam

(2)  srfeamdt Tidl Td i % 912 Uk WiEHidh FEH I A Hl

(3) 1O Sfaq arafasdel & aR B 910 H/aeH % g snfeard gaem ¥ e & smmta
FHE

(4) Tt TR we fored enfeanfaEt & aR § fawm swqd wfvfed &

[Question ID = 137][Question Description = S18_Social Science_Q077]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]



48)

While discussing the theme “Balanced Reporting” as a teacher you will have to :

(1)

Discuss the importance if mass media and make it a mandatory practice for students
to read the daily headlines

Recognize the important contribution of big business in their investment in media
houses and generating revenues

Address the aspects of news selection and the inclusion or exclusion of certain
perspectives

Only present what is given in the textbook to avoid controversial discussions in class

igfer R’ e forv i o e T, T e T H o -
SHEER A ((AE-HIteA) % HEe == B ari a ot + o geremmEn
e sifard foren st 2

T ST e ¥ e T § S o e S v S § T T
RUEEE RS I

QU= =7 o Teeel, 1 Fo aRled] S uEe 41 SRt i H Gatd HE g
a1 ¥ Teramerege =iel Y Shan & foru S weagEas H foan T € Sheet 9 W e §
1[Q:u[e;tign ||[; =514 2]8][Question Description = $18_Social Science_Q078]

2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

(1)

(2)

(3)
(4)

49)

Which of the following perspectives we could develop in students while teaching about
diversity ?

(A)

(B)
(©

(D)

Diversity is considered as diverse traits
It leads to inequality and discrimination among people

It tries to remove discrimination among people on any ground and making them
closer,

It recognises and accepts differences among people

Choose the appropriate option.

(1)
(2)
(3)
(4

(A), (B) and ()
(A), (B) and (D)
(), (C) and (D)
(A), (C) and (D)



fafaem & =1 # ven gu ey v 4 Fefafas § 9 207 @& gfeso fasfag g €72
(A) fafaea = fafay @il % w9 7 ST §

(B) TE AN § SATHMA AR 2vE Feard €

(C) ot off oeR WX @i B & SIgTe g2 o WA HIT ¢ 9 I U ATl §

(D) =& @l § = Sl ol Teart i TR i ¢

IYgeH foeheq 1 = HifsT
(1) (A), (B) ¥R ©
(2) (A), (B) ¥R (D)
(3) (B), (C) ¥R (D)
(4) (A), (O ¥R (D)

[Question ID = 139][Question Description = S18_Social Science_Q079]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50 i i . :
) Social science textbooks themselves can act as a good teaching-learning resource for a

classroom discussion if the teacher >
(1) asks her students to read a loud from the textbook

(2) asks students to engage with the in text questions and do develop answers for the-
end-of the chapter questions

(3) discourages students to read books and other materials outside of textbooks
(4) encourages students to have a look at the textbook

e § ufce=t & forw grfSe-fomm it gerges U o sear-sifere % Eid % w9 § %

Wﬂﬁﬁlﬁ 3 forfeqent -

(1) e faenfi=i =1 ureagss @ 3= =R 8 9 & fore et €1

(2) foenfe =t areagEae A wel # Hiew wH & f FEdt § 9w weid gt % foan s e
 fore et €

(3) Tomnfeldi =1 UreerqEaehi ¥ 9T 1 YEIRI Ud o1 HETE 1 UgH 9 gdieied Hidl ¢ |

(4) Ternfefi skt wTeugER SE % forn deHifed e €|

[Question ID = 140][Question Description = S18_Social Science_Q080]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

51 ; : ; B B d ;
) A social science teacher wanted her students to engage in a critical inquiry on the issue

“Why plastic should be banned?”’. Which would be the most appropriate activity for

this ?

(1) Organizing visit to a plastic toys manufacturing factory

(2) Showing a documentary on how plastic affected the sea creatures and later discussing
its effect on ecosystem

(3)  Asking students to collect various samples of products made up of plastic

(4) Asking students to prepare a story board on various uses of plastic



T HHIT SR form Y fferent Cenfeess 1 o wfesifid s 3 anfen v a2 srod fenfef
ST Site § Gfered & Jedl §1 39 foe gey suge fafafy s ae 2
(1) Tenfies & fages s @ arelt Sl § g9 &1 ssH

(2) TefE® W HYE SfiEl W F gME Sl 8, 39 W UF g9 fa7 fewm ofR g d sHE
affeerfdent @& W gE == B

(3) Taenfoi = wnfies 9 a9 A= 3R] o F97 Sohs L ol el
(4) foenfefEi ) wnfies & fafv= SRl ® TF F91-9g TR FE F1Fe

[Question ID = 141][Question Description = S18_Social Science_Q081]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

52) Which of the following are enabling for the study of social sciences ?

(A) Appreciating the constitutional values of equality and social justice
(B) Becoming active, responsible and reflective members of society

(C) Conforming diligently to received ideas, institutions and practices
(D) Understanding how the society is structured, managed and governed

Options :

(1) (A), (B) and (C)
(2) (&), (B) and (D)
(3) (A), (C) and (D)
4)  (B), (C) and (D)

Frafafes § 9 9 9 gmfes T & srega = gy o9  § 2

(A) THFG 91 GrEIfsER A % Yo gedl 1 gee TuEE |

(B) WS & feramfiet, fSieer qor faamelial §e& a1

(C) e T, Seenaii aen wensdi o Wy Fried ¥ HITET e

(D) =€ THe foF T9= i Y T et § 9 HY W =aftd ud wniea fmn s ¥
ooy :

(1) (A),(Baih

(2) (A), (B) &R )

(3) (A), (O ¥R (D)

(4)  (B), (O) ¥R (D)

[Question ID = 142][Question Description = S18_Social Science_Q082]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



> Read the statements (A) and (B) and choose the appropriate option.

(A) Itis challenging to arrive at one correct answer in social science.

(B) The pedagogical approach of social science should avoid the use of definitions.
Options :

(1) (A) and (B) are true.

(2) (A) and (B) are false.

(3) (A) is true, (B) is false

(4) (A) is false, (B) is true

Frefafaa s (A) 2R (B) #1 ufew qen 3uge fasey &1 =927 Hifsu|
(A) TS fom o fawel & u’ 9@ SE A B

(B) wrmIfSTes fomm o Rememesia Surms i gfiared & yam 9 §=e Fie |
fawey :

1) (A) 3R B) & €

(1)

2) (A) 3R (B) T ¥
(3) (A) ¥ T, (B) T B
(4) (A) 7@ E, (B) W €I

[Question ID = 143][Question Description = S18_Social Science_Q083]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

54 ; i : e 3 :
" A teacher assigns a project on architecture of Britishers based on primary sources. Which

of the following is the primary source ?
(1) Novels

2

Newspaper reports

L€

)
(2)
(3) Rastrapati Bhawan
(4)

Meenakshi Temple

e Bkl W eSS  angfed W e v afEsm <o 81 Frefates § 9w @
Hreifes Hq & 2

(1) 7™

(2) HHER 97 i ey (wfmee)
(3) Wufd wo

(4) Himeh Hfe

[Question ID = 144][Question Description = S18_Social Science_Q084]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]



55 : P ; ; ;
) What are the different ways through which learning experiences from a project can be

captured ?
A) Reports
B) Power-point presentations

(
(
(C) Pen and paper tests
(D) Scrap Books

(

E) Sketches

Options :

(1) Only (A)

(2) Only (A) and (B)

(3) Only (A), (B) and (C)
(4) Only (A), (B), (D) and (E)

4 fafi= ol #0 § ¥ fomd e afeiemn & aftrm syet 31 aifereo e < g @2
(A) et

(B) IeR-TATEE HER
(C) U9 e o gdten

(D) ®hY gF

(E) Yar=s

faweg :

(1) <Fae (A)

(2) e (A) 3R (B)

(3) % (A), (B) 3R ()
(4) FFd (A), (B), (D) ¥R (E)

[Question ID = 145][Question Description = S18_Social Science_Q085]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56 ; : : : s
) Which of the following questions assess the evaluation aspect of cognitive process ?

(A) What can be done to promote fair trade amongst the countries ?

(B) Green Revolution has made India self-sufficient in food grains. Explain.

(C) Would you hold Aurangzeb responsible for the downfall of the Mughal empire ?
(D) What changes did Turks introduce in the art of constructing building ?

Options :

(1)  (A), (B) and ()

() (B), (O) and (D)

(3) (A), (C) and (D)

(4 (A), (B) and (D)



Frafafad § 9 #1 ¥ 79 Hacas iR o gedi | Tee] i S hd § 2
(A) fafs= <91 o == =mRiTa =R s e HE o faw @ fRE S wem § 2
(B) &R shifd F WA Rl 3T & Ael § SeAtieR w1 e € ) wmemgd

(C) el WYRT &% U9 & AT o1 2 Siimere &1 STRerl Setdi ?

(D) SHRAl o 0 1 e H gerl 3 P11 seaE e = ?

Taenea :

(1) (A), (B) & (Q)
(2)  (B), (O) ¥R (D)
(3)  (A), (© ¥R (D)
(4)  (A), B)afﬂ(D

[Question ID = 146][Question Description = S18_Social Science_Q086]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

*) Which of the following should be considered while developing evaluation procedures as

per the Right of Children to Free and Compulsory Education Act 2009 ?

(A) Help students to develop understanding of knowledge based on continuous and
comprehensive evaluation

(B) Enable students to apply knowledge they acquired through continuous and
comprehensive evaluation

(C) Adhere to the guidelines provided by the Examination Boards regarding board level

examinations
Options :
(1) Only (A)
(2) Only (A) and (B)
(3) (A), (B) and (C)
(4)  Only (A) and (C)

frefafag & § forg W == 1 goa iR sifard foen s iR erfufmm 2000 &% SrER

T frfafedi & fawm & g faar fen s =nfee 2

(A) TRER SR =9 gedisa R SIfE 99 W ge () 1 feswaa w J e w5
TR AT

(B) THicR wd =usk gedioh & e § SfSid I 1 SGYAN w1 H faefiE & g9e a9

(C) e oige (L) wienedi & deyf § gdien si€ g’ yer i wE st & uer we

(1) = (A)

(2) %Ed (A) SR (B)
(3) (A), (B) ¥R (©
(4) o (A) 3R (C)

[Question ID = 147][Question Description = S18_Social Science_Q087]



1 [Option ID = 585]
2 [Option ID = 586]
3 [Option ID = 587]
4 [Option ID = 588]

Ealbadi a el

58)

abilities in social sciences ?
(A) Which region is known as ‘Garden of the world" and why ?
(B) Which state is known as ‘Valley of flowers’ ?

Which of the following questions provide opportunities to assess students, analytical

(C) Which state rank first in spices production in India ? What are the geographical

conditions favourable for production of spices ?
(D) Which states are situated in tropic of cancer in India ?

Options :

(1) ( ), (B) and (C)
(2) y (A)

(3) Only (A) and (C
(4)  Only (O

Frefafed e § 9 &F 9 gmifes fagm § ffeRl @ favewoeres drgas # oims &

ST SIS FA & 2
(A) & foa % S % w9 H S S § SR i ?
(B) M W I "Well i T % B9 H S S § 2

(C) NG B == H1 T HTel % Seare T W 3771 § 2 Wi o seeH o fer efgenet dimiferss

ufifeerfaar s & 2
(D) R B 1 H T b v e €2
fawea :
(1)  (A), (B) & (C)
(2) e (A)
(3) e (A) 3R (C)
(4) e (C)

[Question ID = 148][Question Description = S18_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]



59)

Which of the following questions assess only the remembering aspect of cognitive process ?

(A) What are two acts passed by the Government of India for the protection of children’s
right ?

(B) What is galaxy ? Which galaxy is nearest to our galaxy ?

(C) Do you think right to freedom of religion in India works properly ? Does it make

India a secular state ?

are run by different political parties ?

Options :
(1) (A) and (B)

(2
(3
(4

A), (B) and (C)

)@
3 (®), C)and(D
)

A) and (D)

Frafafed & § 91 9 797 "9 WiF % Hae T Uge o STReE i © 7

(A) el o ATERRT T L& ¥, WRA SRR 5 HiF 9 o T Ui foRd o ¥ 2

(B)  STERTSRIT 211 & ? U SATRIYRT o fehedd S i STeRrenim & ?

(C) =Pm 39 Hi=d § 5 wma # ond & goie H T 1 AR He R | i R € 0 T
A I U YS9 @1 8 2

(D) 31 T 2 gadt € afe 059 TeR oI gHia 9eR @ fum Iseifaes wifdEt g denfea
@2

faerey -

(1) (A) 3R (B)

(2) (A), (B) 3 ()

(3) (B), (O 3R (D)

(4) (A) 3 (D)

[Question ID = 149][Question Description = S18_Social Science_Q089]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

60)

Which of the following questions provide opportunities to develop or make use of multiple

perspectives ?

(A) What are the factors that determine the climate of a region ?
(B) What are the harmful impacts of deforestation ?

(C) What are the main physical divisions of South America ?

(D) What are the merits and demerits of multi party system ?

Options :

(1)  Only (A) and (B)

(2)  Only (A), (B) and (D)
(3) Only (O)

(4) Only (D)

What problems may crop up when State government and the Union government



Frefafed # 9 991 9§ 999 9ga uiiedi &1 37 & a1 fas™ 7 & 9w 9eH 1 € 2
(A) FHE Y FRF & N R &7 i Sy Feifa €2

(B) oAl I e % T efTehen v & 2

(C) =it sTiifen & g sifas @ve %A § €72

(D) ¥ T d F N U o § 2

faweg :

(1) e (A) 3R (B)
(2) =€ (A), (B) 3R (D)
(3) w9 (C)

(4) = (D)

[Question ID = 150][Question Description = S18_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q91-99_L1_P2_CTET

Y fo T ety W A o W T T U oy, W e faehed W
hiTeTg |
R O Sgfie ¥ 1 50 GUrS & [eft 5= sgefoen B €, <ifeha smenedl ® wHe 1 anfu
STEATeRdl oh] ST SICTS hich 39 W T&g W1 o ®Y @18 fou S1d € 55F 9= ol GorTcHshdl a9l
GO R THERIHF GIE TSl &1 Fel H S ) Iguiyer armaned o swm #, g faen
=i I gfie &1 Ay 98 ¢1 SgMiusdl UE i € oo e 9 oifys ammed %
IR ol WhR Rl S 8 | U & T9F H HIgHTeT & QI-91e &g 9T/ 9t 91 87
% YA 9 FHIH, dle 9 S H, fa@d 91 9gH il ved o S s w1 SR B
roTfeel o1 AT & Toh hTs off mom &7 srnsdi | faerssy faspfad it & 1 oo & forer 1 Haee
3UF Wi=g sier 4 gfig o1 e, sueht erfvsafaa ot faeneti o forar &, 399 99 &% Y erawd
it GorEel w1 gorn ofe €1 ® 1 U F sifeen smwsti/anfus saer 9 el % are e, faen,
Yeg-=4, IR SfE H1 HER Tk & 91 S a1t i g1 § sifurss g1 €

HE YT I G |

(1) YR TS THANTS |

(2) TeTE UH-TH F O A eEEg w E

(3) TS % Tt o= agefues B T

(4) SRR eTHaTeT =T SYEN HA SETIE TR T
[Question ID = 181][Question Description = S18_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]

3. 3 [Option ID = 723]
4. 4 [Option ID = 724]




Y fau U TMEIYT Y LAMUSE Ul U7 U U WY % U e S faee &1 wae
HiteTd |
W Foret Sgefier ¥ 1 39 gar % aeft 5= sgnfies B € aiftRa swensil o gurer w1 anfi
SRafahdl T SR 1SS ik S W A& 9T % ©9 offe fou 9 € 398 5= Sl gerTeashdl agl
9 T TRRIHE 946 TSl €1 hell § =] ol Sgliieh sHaist 1 YA a1, Hiem- o
1 Sy gfte o Hewyul Yee] 21 agIiuehal UHl ik € e w9 sifys wiist &
TN ol TR foHan Sa1 8 1 Wk 2 THE T AT o -1 & T/ ATEs e S o
T G 9 GHE, Ao 9 o i, faen a9 ge i wee T s agenfear 1 32vd B
wefee] o1 w1 fob <hrE oft s s srwnedl & firerent faepfam St &1 o 36 ferehra o1 et
39 g der H gfg =1 M, 3ue erfvysafa @ faunsdi &1 fawar 8mn, 399 99 % AU a9
I oS o Gt e & € | ek ¥ aferes e/ saemr 5 arell % ur faie, e,
Y597, SER 2N T YER U & 9N S 9 D qa 5 2 g E

g trhe 1 1 S899 © 2

(1) Tafs= wrai o1 dier o 399 o4 oL I

(2) heIe wed W H foreor st

(3) < I FrEErE W H foran 9 ue

(4) fE& ¥ wifgea g &
[Question ID = 182][Question Description = S18_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]

3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

Y fau T I W eATYdes Ufey AT UB U YA % 1T Hel I9ge faeeq @ e
BhITeIT |
WIS TS Sg iR & | 59 GaTS & Geft a3 aguiies 2 €, eifep shensti § gar 1 wifes
el 2l TR 278 T 39 W ALY 1 F ®Y o G 9 2 399 9= #t geredsd ag1
THE TR RIS TG TSl &1 FHEll § Fedl ol agfieh sHaist sl SUART &, Hieq-faam
I gk gfie i wewyd yee &1 aguifihal TH wE @ frad wr & arfues e &
SN ! TR 1 S ¥ 1 U § G WGy S Wy e Sy Srsti e S |
I A4 FHgH, die- 9 S5 w, foad qen vgd i med fear S sganfusar @1 SR B
wreferel =t 71§ Tof g oft e ar= wrwisti & firerre fosrfaa St €1 wmen & forerrd =1 Haer
9% W ver 1 gfg &1 21, 39! sAfvysafa i fawneti &1 fatar g1, 399 9@ & ¢ el
I AR 1 G g S € | Uk § aferes st/ i saeer o arell o 9 {5, faen,
ITeE T3, ISV 1G] HSR Ueh & |9l S 91l i garl | ek 2l 2 |

el H =] i g Gl =1 SYAN = w1 =1fE 2 HHifE
(1) ==l I YSHIcHhRA anfed gl ¢ |

(2) o= THel W B 2 |

(3) Wl H WS FH k1 a1 HifHd 2 g

(4) =i i T R g

[Question ID = 183][Question Description = S18_Hindi Content/Pedagogy_Q093]




1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

Y fau U wEIYT WY eATgdE Ufe Wem UB T Uy & fere wed Suge fawe @ e
ShiTeTq |
W FHTS ST €1 39 GA & Gt o= aguifies €1 ¥ afee wansl § gurt #1 i
aREferhel = TR ST FF 37 W AT 91 % EY ol fou S € $6Y I il Gl a9
T R RIS TS ST &1 el § Sl ol aguiien sTHaiel 1 SuEnt i, die-faee
i aguifue gfie &1 AewyYl gge &1 agwifuear TE i € fod w9 eifys ammed %
IR TR H S 8| U B T H AT o WY &5 Sy e a9 S 9
W1 A 9 WHEH, Ao 9 e e, foad a9 ved o e e s agnfierar 1 S8e
wToiferl 1 AT ® T TS of e 1= st & T faefea 2t &1 v & faerrg =1 oo
I W Her H gfg & 21, 35! sAfvAfa & fauneti @1 fasar 8, 399 91 & AU el
I Gurared 1 ger e 2 8 | Tk Y afus el afys saer S el % g foe faen,
IIeE -, SRV AIE 1 HSR TH & W S 91e) il ger H S1fee s g

wren % fesrrg & o eafigrg 2 2

(1) g wER % HifE 8

) efysafer % fo 2R Hergard &
(3) EfaHE sl FH H T&E Y A
@) o geft gremsnl § afg @

[Question ID = 184][Question Description = S18_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]



? fau T TEIYT W savgdes Ufey qeT UB U YYA % forg e Suge faeeq @ e
EaiE
T THTST AT €1 20 GA o Gl o= ageifies €1, St hansii § guret 1 et
STEAfaeRdl #h] TSR 3IETS ek 39 W @&g WY o ®Y o5 feU S § 359 o=l ol YorTeHshal a9l
THE TR TR TS TSl §1 e W sl ol aguIites aTdiel ol SuAn A, HieH- e
=i Fguifus gfie &1 Aoy g ¥ Sgwifuear T ufsken € fod w9 sifyss ammed %
IUGI = TR 531 S § | U € GOE H Aguen S Wmy-wny g qrey st @9 e A
%l A1 9 HHgH, A 9 S H, foEd q91 9gq il Hed fe S sgenfiskar 1 1 2
wyreferei et 71§ Tof whre oft s sr= wirwisdi & firerne fossfaa Sidt €1 wron & faerd =1 Hae
39 I Er § gfg 1 21, 39! AfeAfa & fauneti @1 fasar 81, 399 9 & AU a9l
I G 1 G g S € | Tk | bR st/ sfies saaer ) are o 9 foe, feren,
Y5 -FgH, eIV 316 T HER Ueh & Ul S aTe] i gl § 33k 21 2 |

wererret fernedt =t qer # st farneff % ur Fn-wn sy @9 # daEand sifu €2
(1) wreg=EH, SR, fou

(2) M, Hedl, IaTEON I HER

3) g =F, faa, faumd

(4) Yo H w4, b9 9 I Her

[Question ID = 185][Question Description = S18_Hindi Content/Pedagogy_Q095]

1. 1 [Option ID = 737]

2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

? feu g TNy WY saUde ufew aUT YR T uyd & fog wew Suge fawen & waw
HTeTT |
A TS Ig i ©1 39 9O % meft 5= g 20 € aif wensti § ga # aifue
STEATeRdT k] TSR SICTS Shich 3 W @& W1 o ®Y @18 T S € 56H o=l ohl GorTcshal ae
G R THRIHF GIE TSl €1 Fel H S 1 Tguiys ermaned o swn ], g faen
=i s gfie &1 Aewyyl 9 B agfusa UE iwen € oo w9 eifys ammed %
SYANT o TR a1 S § | U A T S o Qie-aie A ey srest a9 S A
T YA F HAFH, dle 9 S HE, faan T2 9gH i ved fo S sy # SR B
roTfee o1 AT © Toh TS oft o e wrensd 9 faersss fasfad it & 1 oo & farerg &1 gaes
3% W% SR ° gfg =1 21, 35 afvysafa o fauneti 1 famr 2mn, 399 93 & A0 aad
o GUEIST 1 Ger 3G 8 § 1 U | Ak srnsdl/wnfies saaer & arel o ure feie fae,
YTeE-TAH, ITRAY ME 1 HER Uk & 9 ST a1l ! gor H Aferss 3 21

el § sguis a1 Torsiars e § a1 g ¥ 2
(1) ==l 1 TRl off w1 § e i AgAfd |

(2) ==l 1 HIGHM F & W H ey sAferms seer |
(3) T &3 &1 e T

(4) e &A1 R B GART LA |

[Question ID = 186][Question Description = S18_Hindi Content/Pedagogy_Q096]




1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

" fau Tu vt Ay ufew Ao U U UvE % ferw wed Sugen faden w1 wa
HITT |
R HHS S &1 59 GErS & [eft 5= Sgnfoen B €, <ifeha smeneli ® e 1 anfu
STEATIhdT Tl TSR SIS ik 39 W o&d 99 & ©Y o¢ fou od € 599 o= i gorcHed a0
HUH R TRRICHE T TSl € | FEN Y g o] agaIfus smarsti 1 A w5, 9ree-faem
=i wgIfier gfie &1 Tyl vee B agwiftesar UE ik € fored w9 stfuss swedi &
SYANT R TR a1 S ¥ | U ) Ty § argern S dre-aie S ey st @em s
% YA FHYH, dle 9 HH i, fa@d q91 9gH Fl Hed fe S sgeifuedr #1 S B
roTferel o1 AT & Toh TS off mom &7 srnsti 9 faerssy fasfad rdr & 1 o & ferer a1 Haes
3UF W=y sier § gfig w1 e, suent erfveafaa ot faeneti o foar &, 399 99 &% 99 srawd
Tt GEe 1 Ger e 8§ | U 2ifeen st/ anfue =aer R el & are e, fae,
YTeE-TEH, ITRAY SME 1 HER U & 9 ST a1l ! g1 H s S 21
HA-91 9 fi= § 2

(1) e
(2) g7
(3) e
(4) @&

[Question ID = 187][Question Description = S18_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]



Y fau Tu weier Ay afew Ao U T uva 3 frw e Suge faee @ W
THITT |
R TSt Sgifies ¥ 1 39 Er % At o= sgnfies B €, cifthe smensti o @ w1 i
TR ] SR SIS ik 39 W A%g W1 o &Y o8 feu 9 € 554 9= ol GorTeshal a9
TS R THRIHE G TSl &1 Fell § srea] ohl aguIiens efanedi o1 SuH %, e - faam
=1 sgifte gfte o1 gewEyyl uee] €1 agfusmar U wiwan € formd s 3 sifis et +
IYANT R SRR SR | U T § A S e—ae Qs ey e qo S o
I GAT 9 T, Ao 9 I HE, faEn a9 Ue @ e fed S ag e 1 389 T
wTeTfeE] 1 HHAT © foh 1E ot smar o= arwieq & foerre faesfaa a8 1 a6 famg =1 gaee
3UF W=y ser § gfig w1 S, st erfveafa ot faeneti o forar &, 399 99 % 99 sl
=i Horaarel 1 ge onfe €1 €1 U § saferes e/ anfiers wreEr e arel & ary e, faen,
TS5 T, SR MG 1 SR Th & U S a7t 6l gl § 1fea S g |
o vrse B A1 YT TRTERT 1 W1l 9SS ST ST Wehdl © 2
(1) &
(2)  Hyre
(3) ufsra
(4) =¥

[Question ID = 188][Question Description = S18_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

? fau T vt @Y eaTTOd ufeT qen UF T we W forn werd Sugea fawew @t =
THITT |
TR FErst Sgafie ¥ 1 59 Ers % [t o Sy B €, cifthe smensii o g w1 i
STEAfIehdl Tl TSR IS i 39 W AL 9 & ®Y o8 fSU S T 208 9= i GeFcHad a9
TS R THRIHE YIS TS &1 Fel § sred) ohl aguIies eTHaiST ol SUE e, Hies-faam
=i aguifus gfic &1 Aewyyl Tgq €1 agnfusma WE ufwen € oo uw 9 eifus mmed %
SYART o TR 1 S R | U T H S o Sie-ae SR STy sTes 991 S 9
% G ° GHIH, Al 9 Hek A, faed @91 U @i e fem S Sgifiesd i 389 ©
wTeferel 1 WA & o oaTS ot simem 7= wroneql & firerer faepfad @il 8 | a3 faere =1 qaee
3UF Weg ser § gfig w1 S, suent eifvsafa ot fEeneti o forar &, 399 99 % Y srawd
1 IS 1 Ger anfE € ¥ | U O sifees vrnsii/ e sueer A arell & ar faie, fae,
YreE—TE, ITEAW M 1 HER T & 971 S 1l ! gor1 H s 3 2
‘foia’ o1 a1 FN 72

I G

) T 2R

) s it § Femer e w1d
(4) eI GeH el sThfa i o

[Question ID = 189][Question Description = S18_Hindi Content/Pedagogy_Q099]

1. 1 [Option ID = 753]
2. 2 [Option ID = 754]

(1
@
3



3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET

! faw T eyt i sarTgds ufew o R T uve o fore wew Suge fashen o sem i
wHIfaHE 8 <3 B9,
Yool fenrer & aee W, o7 faees &1fa =m|
FHife-=hife Haom ¥ I8 =erd gfere T |
SR aa-frem H,
S @i | e
QU T A8 97 99 I, Hife-HIe SH-T01 1 AR
Hfenma Wiad | S,
Ie-am 77 - g
Sd-sed, faga ey,
STITOTG O | el |
7 g o e Tfaem, Ssfea-w 98|
R g H T,
SRya | shivga dem |
o dferral @ e frereran @ foF womr w1 g dur § g €2
(1) s @ § e i)
(2) SP-Se faga i,
(3) Ffe-hife Gorw & 7
(4) SIS 78 S0 g9R

[Question ID = 190][Question Description = S18_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]



Y fou T TS R SN Ul 3R U T v 3 T W Suee fashed o S e |
SHIfaHg T <91 B9,
Yool fenrer & aee W, 7% faetsh i =
FHife—=hife Haomy ¥ J8 =erdl qie FAe |
Fspraa vaq-fem H,
S Tl 9 urE 1|
qu Ilish 48 99 99 T, Fhife-hife SH-T01 Rl AR
wfgwma Ffadl | s,
IS~ 78 Tor- o gren 1)
S-agd, faga nfanT,
STTTOTE T[T | e |
g QYT 9 T TIfeaHd, ST 98 |
=R g1 § TS0,
Srfd | Shird qrEm |

T T I Hald e 7

(1) =% derd w1 &1 faam

(2) =%k i e e

(3) 9 % Tiremg 79 w1 e

(4) St gAITE s s
[Question ID = 191][Question Description = S18_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]

3. 3 [Option ID = 763]
4. 4 [Option ID = 764]



Y fou T HTEAY R SN Ul 3R O T v 3 T W Sue fashed o S e
SHIfaHE T <91 B9,
Yo fedrer™ o @l WY, 31807 faetsh S1fd =)
FHife—=hife Haomy ¥ J8 =erdl qie FAe |
Fspraa vaq-fem H,
S Tl 9 urE 1|
qu Ilish 48 99 99 T, Fhife-hife SH-T01 Rl AR
wfgwma Ffadl | s,
IS~ 7E Tor- o gen 1
Sq-dqd, fagd nftams,
ST T[T | TR |
g QYT 9 T TIfeaHd, ST 98 |

=R qSA1 § T,

Srfd | Shid qrEm |

g A S o FHEARR HF i T 9 7 2
(1) =t gfE

(2) fTewrer™ gad

(3) T WHam g

(4) ufed s

[Question ID = 192][Question Description = S18_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]



Y faw T FreTy W STYde ufer 2 R T weE & fore wew suge fased = wee il
SHIfdHe 98 99 B[,
Yo fedrer o delie 1Y, 31807 faetsh S1fd =)
FHife—=hife Haomy ¥ J8 =erdl qie FAe |
SR vaq-fem H,
S Tl 9 urEd 1|
QU Yelieh A8 99 U9 I, hife-hIfe SH-T01 1 R
Hferma i | s,
IS~ 78 Tor- o gren 1)
Sq-dqd, fagd nftams,
STTTOTE T[T | e |
g QYT 9 T TfeaHd, ST 98 |

=R e § $eTHY,

Srfd | Shird qrEm

THia & STTHR S 1 -9 G0 7 H1 T A ¢ 2
(1) ek Tu-Tmemd

(2) qf%qm?‘iﬁl

(3) Haa feHe™

(4) T ¥OH

[Question ID = 193][Question Description = S18_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]



V' fu T HTEAY R SN Ul 3R O T v 3 T W Suee fashed o S e
SHIfaHg T <91 B9,
Yo fedrer o delie 1Y, 31807 faetsh S1fd =)
FHife—=hife Haomy ¥ J8 =erdl qie FAe |
Fspraa vaq-fem H,
S Tl 9 urE 1|
qu Ilish 48 99 99 T, Fhife-hife SH-T01 Rl AR
wfgwma Ffadl | s,
IS~ 78 Tor- o gren 1)
Sq-dqd, fagd nftams,
STTTOTE T[T | e |
g QYT 9 T TfeaHd, ST 98 |

=R qSA1 § T,
Srfd | Shird qrEm |
‘faga' &1 e &

(1) Tiesh

2) wEs

(3) faerean

(4) HfEw

[Question ID = 194][Question Description = S18_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]



¥ fiu T HTEIY R A Ul SR O T v 3 T W Swee fashed o S e
SHIfaHg T <91 B9,
Yo fedrer o delie 1Y, 31807 faetsh S1fd =)
FHife—=hife Haomy ¥ J8 =erdl qie FAe |
Fspraa vaq-fem H,
S Tl 9 urE 1|
qu Ilish 48 99 99 T, Fhife-hife SH-T01 Rl AR
wfgwma Ffadl | s,
IS~ 78 Tor- o gren 1)
Sq-dqd, fagd nftams,
STTTOTE T[T | e |
g QYT 9 T TfeaHd, ST 98 |

=R e § T8THY,

Srfd | Shird qrEm |

' s foere | o vEifea wes 72
(1) famo

(2) Ha

(3) @A

(4) o

[Question ID = 195][Question Description = S18_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET

" i e it F < e g et 1 < et B g
(1) =i o fore emverd @
(2) =l & o EfeReE ©
(3) THE HE o g9a T g
(4) UREREH B9 F AT HOT
1[Q1m[a;ti9n ||[; =718 f:]e][Question Description = $18_Hindi Content/Pedagogy_Q106]
2. 2 [Option ID = 782]

3. 3 [Option ID = 783]
4. 4 [Option ID = 784]



Y frefafed § § FE-w fagr AT % st SR T s 5 s g
ey fagra T & ?
(1) @i |Ed | 9ol Jardl |€i@ o
(2) o9 9ftEw ¥ gfar % 9ee 9w

(3) T U1 FHSHUT % TAM W HGHRNHS FHHA T oA &1

(4) oftErer | deft s @ gEd el 9 S w1 a8l

[Question ID = 197][Question Description = S18_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3)

- FH Tl T Q2

(1) o sferms HaEEeE afafaty 7

(2) oiferm fasmerimar am siferm & Heifum 728 %1

(3) T I STRT AT T F SR B H S AeTH F ST Y UF A WS
(4) e faeraran 1 g% § & Te=H A Fhe 9o i g ¢
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